Gr 4 U7 L15 S1 KEY
Below is one approach to finding the solution to the party punch problem.
1. How much of each ingredient needs to be purchased to serve over 100 people?
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2. How many total gallons of punch can be made with the all the ingredients?
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3. If there were only 12 fl. oz. cups, how many servings could be made from the total number of gallons?  [Optional]
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‘There is a total of 128 fluid ounces in one gallon (8 fluid ounces per cup X 16 cups per
gallon = 128 fluid ounces per gallon). 7 gallons x 128 fluid ounces per gallon =896 fluid
ounces total.

Divide the total number of luid ounces by the number of fluid ounces per serving, 896 +
12 =74 twelve fluid-ounce servings and 8 fluid ounces left over.
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trawberry Sherbet
2 pints of Strawberry Sherbet x 7= 14 pints of Strawberry Sherbet

‘There are 8 pints in one gallon, 14 pints + 8 pints per gallon = 1 gallon and 6 pints.

‘There are 2 pints in one quart, 6 pints + 2 pints per quart = 3 quarts.

Therefore, 1 gallon and 3 quarts of Strawberry Sherbet will be needed.

Fruit Punch

2 quarts of Fruit Punch x 7= 14 quarts of Fruit Punch

There are 4 quarts in one gallon, 14 quarts = 4 quarts per gallon = 3 gallons and 2 quarts.
S0, 3 gallons and 2 quarts of Fruit Punch will be needed.

Lemon-Lime Soda

32 fluid ounces of Lemon-Lime Soda x 7=224 fluid ounces

‘There are 8 fluid ounces in one cup, 224 fluid ounces + 8 fluid ounces per cup =28 cups.
‘There are 16 cups in one gallon, 28 cups + 16 cups per gallon = 1 gallon and 12 cups.
‘There are 4 cups in one quart, 12 cups = 4 cups per quart =3 quarts.

Therefore, 1 gallon and 3 quarts of Lemon-Lime Soda will be needed.
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Add 1 gallon and 3 quarts, 3 gallons and 2 quarts, and 1 gallons and 3 quarts. There is
a total of 5 gallons and 8 quarts. But there are 4 quarts in a gallon, so 8 quarts
quarts per gallon =2 gallons. Adding the 2 gallons + 5 gallons, means there will be a
total of 7 gallons of punch.





